29.01.21
WALT: Use the grid method to ' 4 digits x 2

Vocahulary check

| 15 multiplicand

| .l l'g | X 2  multiplier
multiplier 3(0) product
pJUdlLd: Thousandsl Hundreds Tens
grid method
associative law
distributive law
comumutative law




Compare these two images.
What is the same? What is different?
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How many, similarities and differences can youw describe?




O green counters:?
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How can we find the number of squares
i each small rectangle?

How can we find the total numhber of
squoues’?
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20x10 + 203 +10 x5 + 5 x 3

What is the same? What is different?
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How is it different? Why, might this he useful?



I am using the grid method to solve this calculation. Describe what
I have done so far and what I still need to do.
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20 5
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How can I use the grid method to solve this calculation?

125 x 23




Part A Part B

. Which af the calculations is the correct answer to
Use the grid method to calculate S

these:

1. 2363 x3 =

2. 1874 x2 = A [ X2 30 |6

3. 5067 x4 = 40 | g0 [1200 | 240 1520
L, 628 x13 = 5 |10 liso |35 | 195
5. 3465 x38 = T 1715
6. 507 x24 =

B X | 200 30 6
40 [800C [1200 (240 | 9480

5 1000 | 150 | 30 |1185

= 10665

C | X | 200 [30 6
40 |800C [1200 |240 |9440

5 1000 |[150 30 (1180
= 10620
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